
Class IV 

Chapter 2 

WS-Multiplication  (Standard) 
Choose the correct option :  
 
1. If  516 X 73 = 37,668 ; then 73 X 516 = ________  
   
a. 516          b. 73             c.37,668 d. 36,778  
 
2.  7 X 3 X 5 X 0 X 9 = __________  
  
a. 0              b. 945            c. 435 d.73,509  
 
3. 42 X 3,000 =_______________  
  
a.1260         b. 12,60        c. 1,26,000         d.12,60,000  
 
4.   ______ X 1 = 678  
             
a.678           b.876            c.768 d.786  
 
5.  96 X 5 X 20 = ________  
        
a.9652          b. 9600       c.96000     d.960  
 
Fill in the blanks : 
 
6. 11 X 46 X ______  = ______X 52 X 11  
 
7. ______ X 100 = 52,000  
 
8. 75 X _________ = 75,000  
 
9. 5,456 X _______ =0  
 
10.  5 thousands  X  _____   = 50 thousands 
 
Short answer type questions:  
 
11.  Multiply 957 by 319. 
  
12. Find the product of  5,271  and  348. 
  
13. Find the product of the greatest 3-digit number and the smallest 4-digit 
number. 
 
Long answer type questions:   
 
14. There are 2,250 books in an almirah. How many books are there in 78 such 
almirahs?  
 
15. What is the product of the successor of 290 and predecessor of 764?  


